
  

APRIL 2021 60511/BYA5C/CYA5C 

Time : Three hours Maximum : 75 marks 

PART A — (10  2 = 20 marks) 

Answer any TEN questions. 

1. Define the term Previous Year. 

 •¢øu¯ Bsk Gß£uøÚ Áøμ¯Ö. 

2. Who is called non resident? 

 Si²›ø© AØÓÁº GÚ AøÇUP¨£k£Áº ¯õº? 

3. What is tax on employment? 

 öuõÈÀ Á› GßÓõÀ GßÚ? 

4. Give any two examples of profession. 

 öuõÈÀ Gß£uØS H÷uÝ® Cμsk Euõμn® öPõk. 

5. What is profit – in –lieu of salary? 

 C»õ£zvØS £v»õÚ \®£Í® GßÓõÀ GßÚ? 

6. What is recognized provident fund? 

 A[RP›UP¨£mh ÷\©|» {v GßÓõÀ GßÚ? 

7. Define annual value. 

 Bsk ©v¨¦  Áøμ¯Ö. 

8. When is allowed full depreciation in business income? 

 Â¯õ£õμ Á¸Áõ°À •Ê ÷u´©õÚ® G¨÷£õx AÝ©vUP¨£kQÓx? 

9. What is Permanent Account Number (PAN)? 

 {μ¢uμ PnUS Gs (PAN) GßÓõÀ GßÚ? 

10. What do you mean by ‘Income Escaping Assessment’? 

 Âk£mh Á¸©õÚ ©v¨¥k Gß£x ¯õx? 

11. Mention any three powers of Income Tax Officer. 

 Á¸©õÚ Á› A¾Á»›ß H÷uÝ® ‰ßÖ AvPõμ[PøÍ SÔ¨¤kP. 

12. What a note on E-Filing. 

 ªßÚq uõUPÒ £ØÔ Kº SÔ¨¦ ÁøμP. 
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PART B — (5  5 = 25 marks) 

Answer any FIVE questions. 

13. What are the incomes deemed to be received in India? 

 C¢v¯õÂÀ ö£Ó¨£mhuõP P¸u¨£k® Á¸©õÚ[PÒ ¯õx? 

14. What are the different types of assesses? 

 ©v¨¥mkUS›¯Á›ß £À÷ÁÖ ÁøPPÒ ¯õx? 

15. Compute the annual income from house property from 
information given below. 

 p.a. 

Rs. 

Actual Rent 60,000 

Municipal rental value 80,000 

Fair rental value 70,000 

Standard Rent 69,000 

Rent not received for two months.  

 öPõkUP¨£mh Â£μ[PÎ¼¸¢x Ãmiß Bsk Á¸©õÚ® 

PnUQkP. 

 BskUS  

¹. 

Bsk ÁõhøP 60,000 

|Pμõm] ÁõhøP ©v¨¦ 80,000 

Esø©¯õÚ ÁõhøP ©v¨¦ 70,000 

{ø»¯õÚ ÁõhøP 69,000 

ÁõhøP Cμsk ©õu[PÐUS ö£ÓÂÀø»  

16. Mr. Anvar’s house property details are: (50% own residence and 
50% let out) Municipal value Rs. 1,12,000; municipal taxes  
Rs. 12,000; Rent received (let out) Rs. 48.000; Repairs  
Rs. 24,000; Insurance premium Rs. 3,000 and Interest on loan 
for house construction Rs. 2,400. Compute house property. 

 v¸. AßÁ›ß Ãmk ö\õzx Â£μ[PÒ (50% _¯Si°¸¨¦, 50% 

ÁõhøP) |Pμõm] ©v¨¦ ¹.1,12,000, |Pμõm] Á› ¹.12,000, ÁõhøP 

ö£ØÓx (ÁõhøP Ãk) ¹.48,000; £Êx£õº¦ ¹.24,000; Põ¨¥mk 

•øÚ©® ¹.3,000; ©ØÖ® Ãk Pmh ö£ØÓ PhÝUPõÚ Ámi ¹.2,400; 

Ãmk Á¸©õÚzøu PnUQkP. 
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17. From the following statements compute the business income. 

 Commission earned  Rs. 20,000 

 Sales    Rs. 1,20,000 

 Purchases    Rs. 20,000 

 Staff salary   Rs. 11,000 

 Purchase of typewriter  Rs. 8,000. 

 ¤ßÁ¸® AÔUøPø¯ öPõsk Â¯õ£õμ Á¸©õÚzøu PnUQkP. 

 uμS ö£ØÓx    ¹. 20,000 

 ÂØ£øÚ    ¹. 1,20,000 

 öPõÒ•uÀ    ¹. 20,000 

 £o¯õÍº \®£Í®   ¹. 11,000 

 umha_ C¯¢vμ® Áõ[Q¯x  ¹. 8,000 

18. When the return of loss should be field? Explain. 

 |mh AÔUøP G¨÷£õx uõUPÀ ö\´¯¨£h ÷Ásk®? 

19. What is refund of Tax under Income Tax Act? 

 Á¸©õÚ Á› \mh¨£i Á› v¸¨£® ö£ÖuÀ GßÓõÀ GßÚ? 

PART C — (3  10 = 30 marks) 

Answer any THREE Questions 

20. Explain in detail about which incomes are taxable for ordinary 
resident, not ordinary resident and non resident. 

 G¢öu¢u Á¸©õÚ[PÒ Si²›ø© Eøh¯Áº, \õuõμn Si²›ø© 

AØÓÁº ©ØÖ® Si²›ø©÷¯ AØÓÁ¸US Á› ÂvUP¨£kQÓx 

Gß£uøÚ ÂÍUP©õP  ÂÁ›. 

21. Mr. X supplied the following particulars for the previous year. 

 Salary Rs. 4,50,000, Dearness allowance Rs. 50,000. Medical 
allowance Rs.1,500 per month, entertainment allowance  
Rs. 30,000, Commission Rs. 10,000, HRA Rs. 24,000, He pays a 
rent of Rs. 3,000 per month in Madurai. Employer’s contribution 
to RPF, Rs. 4,000 per month. Own contribution by the employee 
is also Rs. 4,000 per month. Interest on RPF credited amounted 
to Rs. 28,000 @ 14% p.a. Calculate taxable salary of Mr. X. 
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 v¸. ‘X’ ¤ßÁ¸® Â£μ[PøÍ •¢øu¯ BskUS u¢xÒÍõº. 

\®£Í® ¹.4,50,000, APÂø»¨£i ¹.50,000, ©¸zxÁ¨£i ©õu® 

¹.1,500, ÷PÎUøP¨£i ¹.30,000, uμS ¹.10,000, Ãmk ÁõhøP £i 

¹.24,000, CÁº ÃmkUPõP ©õu® ¹.3,000 zøu ÁõhøP ©xøμ°À 

ö\¾zxQÓõº. A[RP›UP¨£mh ÷\© |» ÁõhøP¯õP •u»õÎ°ß 

£[PÎ¨¦ ©õu® ¹.4,000 uÚx ö\õ¢u £[PÎ¨¦® ©õu® ¹.4,000. 

£[PÎ¨¦ ö\´¯¨£mh ÷\© |» {v°¼¸¢x ÁμÄ øÁUP¨£mh 

Ámi ¹.28,000@  14% Ámi BskUS X–ß Â›USm£mh 

\®£Ízøu PnUQkP. 

22. Mr. A let out a house. Compute his house property Income from 
the following data. 

 Rs. 

Municipal Rental value 40,000 

Fair Rental Value 36,000 

Standard rent 38,000 

Actual rent 4,000 p.m 

Municipal taxes 10% of MRV + 2% of 
Municipal tax: 

 

Actual repair expenses 4,000 

Ground rent 2,000 

Interest on Loan 12,000 

Vacancy period 3 months.  

 v¸.A°ß ¤ßÁ¸® Â£μ[PøÍ öPõsk, ÁõhøPUS Âh¨£mh 

Ãmiß Á¸©õÚzøu PnUQkP. 

 ¹. 

|Pμõm] ÁõhøP  ©v¨¦ 40,000 

Esø©¯õÚ ÁõhøP ©v¨¦ 36,000 

{ø»¯õÚ ÁõhøP 38,000 

\õuõμn ÁõhøP ©õuzvØS 4,000  

|Pμõm] Á› |Pμõm] ©v¨¤À 10% ©ØÖ® 

|Pμõm] Á›°À 2%•® 

 

\õuõμn £Êx£õº¦ ö\»Ä 4,000 

{» ÁõhøP 2,000 

Phß «uõÚ Ámi 12,000 

Põ¼¯õP C¸¢u Põ»® 3 ©õu[PÒ  
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23. Calculate income from profession from the following Receipt and 
Payments given by Mr. X. 

Receipts  Rs. Payments Rs. 

Balance b/d 1,20,000 Car expenses 24,000

Fees from clients Office expenses 6,000

2016-17 25,000 Salary to staff 7,000

2017-18 30,000 Interest on loan 1,000

2018-19 32,000 Income tax 1,500

Presents form 
clients 

20,000 Income tax penalty 600

Winnings from 
lotteries 

24,000 Wealth tax  250

 purchase 5,000

 Balance c/d 2,05,650

 2,51,000  2,51,000

 (a) Depreciation at Rs. 2,500 is to be provided. 

 (b) Consider Rs. 1,500 as opening stock and Rs. 1,000 as 
closing stock 

 (c) Car is 60% used for official purpose 

 (d) Income from other sources Rs. 30,000. 

 v¸.X–ß ¤ßÁ¸® ö£ÖuÀPÒ ©ØÖ® ö\õzxUPøÍ öPõsk 

öuõÈÀ Á¸Áõø¯ PnUQkP. 
ö£ÖuÀPÒ ¹. ö\¾zuÀPÒ ¹. 

C¸¨¦ R/öPõ 1,20,000 Põº ö\»ÄPÒ 24,000

ÁõiUøP¯õÍº 

Pmhn® 

A¾Á»P ö\»ÄPÒ 6,000

2016-17 25,000 FÈ¯º \®£Í® 7,000

2017-18 30,000 Phß «uõÚ Ámi 1,000

2018-19 32,000 Á¸©õÚ Á› 1,500

ÁõiUøP¯õÍº 

Aß£Î¨¦ 

20,000 Á¸©õÚ Á› 

ushzöuõøP 

600

SÖUP¼À 

öÁßÓx 

24,000 ö\ÀÁ Á› 250

 öPõÒ•uÀPÒ 5,000

 C¸¨¦ ÷©/öPõ 2,05,650

 2,51,000  2,51,000
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 (A) ÷u´©õÚ® ¹.2,500 AÝ©vUP¨£kQÓx. 

 (B) öuõhUP \μUQ¸¨¦ ¹.1,500 ©ØÖ® CÖv \μUQ¸¨¦ ¹.1,000 

GÚ P¸zvÀ öPõÒÍÄ®. 

 (C) Põº 60% £¯ß£õk A¾Á»PzvØPõÚx. 

 (D) Cuμ CÚ Á¸©õÚ® ¹.30,000 

24. Describe briefly the Income tax law relating to ‘Rectification of 
mistake’. 

 uÁÖPøÍ v¸zu® ö\´Áx öuõhº£õÚ Á¸©õÚ Á› \mhzvß 

_¸UP©õP ÂÁõv. 

——————––– 


